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1. Factor the polynomial completely. If the polynomial cannot be factored, say |L4)s prime. /
ZX — X C—¢ Y XS o
2x° +8x2 - 24x L

Select the correct choice below and, if necessary, fill in the answer box to complete your chmce

n s zx(x* +V7(*"Z): ;12
*2x7 +8x" -24x= (Type your answer in factored form:) 7
T C2x X~ 2)(X+8) ~ /

O B. The polynomial 2x™ + 8x~ — 24x is prime.

o 'é-(’;.‘ v
- /v(/;)' ™\ _

Answer: A. 2 + 8x2 —-24x= 2x(x + 6)(x — 2)' (Type your answer in factored form.) P 7y x B
- / §
[ Fa Lv'.J P
ID: Quick Check PF.3.14 \__3_,_1_ v

<
2. Factor the polynomial completely. If the polynomial cannot be factored, say itis prime. .- 3 r — 6 r —-(—Z ¥ -

-3r% -6r+24 —~3 (r 2~ — 5)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice..
-3 ( y—2)(r+ cb «’/ 3
_(Type your answer in factored formi.)

O B. The polynomial - 3r2 =6r+ 24 is prime.

OA. _32_gr+24=

Aiss b, A
_ . i
Answer: A. -3r2—6r+24=|—3(r+4)(r—2) (Type your answer in factored form.) 5_’ / i /'
&>/ 5
ID: Quick Check PF.3.15 ¢ — f -
—— - § E K — — e ——— ,-__‘ L
\f(' S v <L 8 A" - b;) 1’; /.:
L5, Solve the equalgr{;fj ) -3 W ¢ [ - 36 7 7 les jf_ )
- —[2. 253 L?’ /’ Y .
4x +x -36x-9=0 - - - | = = O ﬁ >}‘f: 7 1'7}‘ T’ —_
_______ : - [ = C) e < ™
7 SETTIRe

S |

3
The solution set is .
(Slmpllfy your answer., Type an integer or a su‘qéhﬁed ﬁ'g&on. Use a ma to separate answers as ne.‘edm{ ) N

Sy Szallete divissy 0 ,/ ' 5 7 f»k L/\

1 0f 35

Answer 1

-33 €3 ) \

ID: PF.4.39 X T/

T0/31/72079; §:12AM—
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K Find the domain of the function.

f(x) = 4/ax - 12

The domain is | |. (Type your answer in interval notation.)

Answer: [3,00)

ID: 1.1.59 < —

bx) < Vo7
ok $—(L 2O
Grre e 2Ot

v = /L
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/‘5. For the give'n functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

3 of35

f(x)=2x+9; g(x)=8x -1 %f?)%] =

(@) Find (f+ g)(x). é(/ +t 5%/ -
F+g)x) =] ' (Simplify your answer.)( Xt 9 'f (1K~ )
2 T T HLA,
What is the domain of f + g? Select the correct choice below and if necessary, ﬁll i ehrfgwer box to cor plete your A
choice. = M)
< /U)(-'(" r = ((IQMC*‘\ )
O A. The domain is {x } =i
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) [ /} .
( y/d4 %f .
O B. The domain is {x| x is any real number}. : J
(b) Find (f—g)(x). i
_ | ( oi19)— (¥
f-a)(x)= Simplify your answer.)
(f-9) (Simplify y: 2l G — 7L [ =

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the ans er box to mmplate,y&
—--___"."I‘_

choice.
< Q, )( /‘ /\,J - . C(O m c"l‘ "'\)
O A. The domain is {x } (W )
(Use integers or fractions for any numbers in the expression. Use a comma to s\parate R
answers as needed.) f )
IN) =

O B. The domain is {x| X is any real number}.
(©) Find (f+ g)(x) / } » I8 <
} ‘f , -
(f=g)(x) = (Slmpllfy your answer.) (“/ K/ X 1\?64 / f ) -
. . L =7 X F1IX—7 7
What is the domain of f- g? Select the correct choi below an .if necessary, fi II in the answar box to mplete your chome\
> /|
/6>( +70X ~1 e
O A. The domain is {x } - ;
3 o /w)

|

(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.)

O B. The domain is {x| x is any real number}. (j}%/ = ) L
(d) Find (5] 0. }' 6[} j X _,.( +{ = 7/

A
[i](x)? n |(S|mpI|fy youranswer) P )2)/(;(;‘0 - 1(// J’Z/( o« / Cl

f =
What is the domain of —? Select the correct choi he!om,and ecessary, fill in the answer box to cofﬁplete your. chul

(fro0 = (o4 "z ﬁ,

’ st T G s

O A. The domain is {xl } é re/ LY"E"} - { (f/
(Use integers or fractions for any numb lnl eexp ssion. Useaccmrna toseparate .

answers as needed.) ﬁ[ — 7 ) ( z) L.)—f 3/ /

O B. The domain is {x| x is any real numba),._. = Z u L/\/

(e) Find (f+ g)(2). ( ( ;f -f)) (Z) ¢ 5 N
B —

— 10/31/2019, 8:12 AM
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(f+g)2)= ]:](Type an integer or a simplified fraction.) ( / /m —G /( ’7L /=
(0 Find (T-g)(4). {[ ) ¢) < %/f/’f/v)

(f-g)4) = l: (Type an integer or a simplified fracﬁon%/ pa /) ( "/) e Y’f/ )

_h“‘*—-:_- . g__/"
o=

’ F('::;:; )(13) |(;pre an integer or a simplified fraction: / J) ((P) _,,,.f/‘ A
IE /6/ 79X~

/ )/(3/ J603)F 7903) =9

[ ](1) | | (Type an mtegerorasarnpllifij!d fracti/on ¥ 2 - oD )P — 7
B. The domain is {x| x is any real number_ﬁ ] )/ (/3) /6/ )7 7o 3) —

fo5) (%) = /751 20 ~3

16x2 + 70x -9 ///§) - Bf? " 2

B. The domain is {x]| x is any real num(/ j)/ S ) . 39/( \ A

2x+9

(h) Find (—] (1).

Answers 10x+ 8

-6x+10

B. The domain is {x| x is any real numbe

8x-1 ‘_/*

A. The domain is {x| x#% (j (%/ : (f X— [

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

. GV —5e5T

’ 310 -5

ID: 1.1.67
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f(x + h) = f(x)

6. '
[/ Find the difference quotient of f; that is, find h

,h#0, for the following function. Be sure to simplify.

f(x)=x2 —-4x+2
f(+ h) — f(x) ]

o |

Answer: 2x+h-4

ID: 1.1.83
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Vi

Determine whether the graph is that of a function by using
the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

( Cj} Yes/
~&No

https://xlitemprod.pearsoncmg.com/api/v1/print/math

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice.

—
O A. The(iymam is (" ’)0,: M/ Thefrange is

(Typ&your answers in interval notation.)
(O B. The graph is not a function.

(/u-( Vish+ ]

S Zj/ﬁﬂ “?m Topj

What are th@tercepts? ieiect he correct choice below and fill in any answer boxes within your choice.

Sk

Wl - )

=2 d) (/3’/

(c* 2)

/ - ..rgé(,- &t ,:/ ’!

(Type an urdered"patr Usea comma to sepafate answers as needed.)

(O B. There are no intercepts.
(O C. The graph is not a function.

Determine if the graph is symmetrical.

i (*_',f/A. It is symmetrical with respect to the y-axis.
O B. ltis symmetrical_with respect to the origin. -
(O C. lItis symmetrical with respect to the x-axis.
(O D. The graph is not symmetrical.

(O E. The graph is not a function.

Answers Yes

A. The domainis| (= o0,00) |. The range is

(00,21 |

(Type your answers in interval notation.)

A. |(3,0),( = 3,0),(0,2)|(Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21

5of35
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M Using the given graph of the function f, find the following. "

(a) the intercepts, if any

(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

k‘fl / \," f\ﬂ-‘_’th.{,l/j,f—

(@) What are f.he intercepts? ;(\ «\

ez, (o) (o 1)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

— = 25, . / 3 Vi b L 0"/“ ,
(b) Thedomain-is | —~ 2 3}; & L Cf ( Viyh £ i /
(Type yo ranswerln interval hotation.) ~— P‘ A A e
Theg_vnge IS [b\; ,‘/ /"\} ﬁ)ﬂj . A
(Type your answer: interval notatlon) = / (
(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your :
choice. Wi (e A- ‘-\

1 \,J\\‘}'( { \
O A Thegraphr&nareasmgon Z Z/ o —S [() 3} rll-')o \' Cl ol \\
Ll{ %ﬁ(‘—l]

(Type your answer in interval notation. Use a comma to separate answers as needed.)

vt i
(O B. The graph is not increasing on any interval. | G JILe

1T Q90
On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answeri boxes within your :

choice.

O A. The graph lsg;é;:;e_as;\b on 3 L J O I’z

(Type your answer in interval otahon Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes/within your choice. /

4 Lk’i.’.a/ ;,-'I
' ‘J L 4
¢ v

O A. The graph is constant on .
(Typs your answer in interval notation. Use a comma to separate answers as needed.) /K I\ > L\ %3

C\ f‘ﬁ;ﬁ The graph is not constant on any interval. ‘\

(d) The functionis (1) | 7 \, L\J'F‘f/) LS \\
(1) O even. B X .

~ (& neither odd nor even.
e e ———
() odd.

& ¥

6 of 35 10/31/2019, 8:12 AM
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Answers (- 2,0),(1,0),(0,1)
[-3,3]
[0.1]

A. The graph is increasing on | [-2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[= 3, = 2],[0,1] |.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.256

7 of 35 10/31/2019, 8:12 AM
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% Using the given graph of the function f, find the following. j Gim Y //'
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(a) the intercepts, if any L(. g5 = 17
(b) its domain and range ' i .,77]
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether itis even, odg “or neither

ol &

,./., .;; ' . [-_,--"’(_
(a) Wha$ l% intercepts? f\j s Kok’
';/ : fl
(Slmph% yéur answer. Type an orde palr Use a co rpa to separate answers as needed.) *";r {~ \/ﬂ{f S ' u/l\

(b)Thed@r}.-{s - // /f}f'/(

(Type yourariswer in interval no mn} ‘ =
_*‘i '2‘-3 P Z l /-/rrhj 7(_‘5{-/(

The@geis ;
(Type-your answer in intérval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice. L

‘ﬁ~‘- s ‘.]- _( I “J .‘
O A. The graphisi creasmg on ZJ 2, e
(Type your answer in interval notation. Use a comma to separate answers as needed.)
(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

e -_"‘ ( ]
O A. The graphis éacreasm’g on |7 | .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

e . /
O A. The graph i€ constant’on ( - - { f C/
(Type your answer in interval nota/ tion. Use a comma to separate answers as needed.)

(O B. The graph is not constant on any interval.

(d) The function is (1)’

_ —= —=

(1) @~ neither odd nor even.
~ 0 odd.

O even.

8 of 35 10/31/2019, 8:

3
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5
Answers (0,0), [50]

[-3.3]
[-2.2]

A. The graph is increasing on [2,3] 8
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1.11]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constanton |[- 3, -1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31

9 of 35 10/31/2019, 8:12 AM



finalm1314C0OC034sulllljjRZZ14H-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(/10. The function f is defined as follows.

-2x+3 ifx<1
f(x) =
2x-1 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The-domain of the function fis | he) € 0 4[) roh %)
(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. Tr@;mept(s} is/are ( @ ] ‘5)

(Type an ordered pair. Use a comma to separate answers as needed. )

(O B. There are no intercepts.

(c) Choose the correct graph below.

O A O B. O ¢.

(d) The@;df the function f is ) N ;) & ()9 , ' h) .
(Type youFanswer in interval notation.)
Answers (— 00,00)

A. The intercept(s) is/are | (0,3) e _2)(‘{/ § ’[ oL /\

(Type an ordered pair. Use a comma to separate answers as needﬁd b0 I
{ -
\ A - . =
(/\/I-lj,lacu_.__ \, Z)(/’/' fi{X//

‘ T
//%?W” ) / \
PR/

D. - -)(/ /A’ LA .

[1,00) e
'7/}”’“\

A 7

ID: 1.4.33 ﬁ,-%tf Tl ﬁ: e
: L oel) PRET

£y B
‘ﬂl’(f{g ( 2u-f) pIL iy ]

Clyse

| (X2 il

e ——
10 of 35 — 1073172019, 8:12 AM
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V’ﬁ{ The function f is defined as follows.

2+x ifx<0
f(x) =
XX ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) Thﬁ?ﬁ'lfa'ih"bf the function f s |
(Type |:ar1§;.rer in interval notationy)

Zloe ) €—— (.44, risit)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
’{H.,--.‘,-_-'; { Il'f

e ' = N\ Yein eV /

OA. Th nterciag_t(s) islare (- Z/ D/ .(()) (_}) )( (/M’_/( d/{ ~/n [(/‘vﬁ

(Typean ordered pair. Use a comma to separate answers as needed’
(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O B.

() THE ange bf the functionfiS|I_E -’g’ b{ ) & (Lu //,/dﬂ-rj TZ) ,ﬂ)
(Type nswer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are | (- 2,0),(0,0) (f Z-(' X :/ X <
4 Z

(Type an ordered pair. Use a comma to separate answers as needed.) / )()
; @

2 \_/L"\j‘-)"b) ,./

%/M (A

(= 00,00)

ID: 1.4.37
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12. The graph of a function fis illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x) =f(x) +4 (b) G(x) =f(x +3) (0) PO = - 1(x)

1
(d) H(x) = f(x +2) - 2 (&) Q) = 5 f(x) () g(x) =f(-x)

(9) hix) =#(2x)

(a) Choose the correct graph of F F(x) =-d'(x) +4 below.

on & N\ oo

&~
(d) Choose the correct graph of H(x) = f(x +2) -2 below.

hy f/é Y
O A. OB @2_ J.gic

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

12 of 35 10/31/2019, 8:12 AM
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(f) Choose the correct graph of g(x) = f( — x) below.

OA. O B.

13 of 35 10/31/2019, 8:12 AM
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Answers

ID: 1.5.63
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V’f: |
' (a) Graph f(x) = |x + 6| - 2 using transformations. Ay

(b) Find the area of the region bounded by f and the x-axis mf
that lies below the x-axis. a-
(@) Graph f(x). 6-.
(Use the graphing tool provided to graph the function.) 4__

2

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is | square units. i : : 1 e - >
(Simplify your answer.) g

e
-4

64

A0

Answers

| cl..v"/' =
{O}‘l{)‘?fﬁda— - d\

X;‘:VI '-e f¢\0}!
2 4 6

—
8 10

ID: 1.5.81
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S o ! = /G K i
14. Find the zeros of the quadratic function using the squara root mathod What are the x-intercepts of the graph of the

function? _ k/();»-j)_( - ‘f’é’//[
W= 16 g g

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) }(’ __3 -G O yd X;’ } =" 5/

The zeros and the x-intercepts are different. The zeros are the x-intercepts

DA are X=515C ~—+5 O A2 T Yr3

() B. The zeros and the x-lntercepts are the same. They are /‘/
(A 1= /o Zf/
Answer: B. The zeros and th -mtercepts are the same. They are

ID: 2.3.29

1‘715/ Find tl'@rgs if any, of the /guadratlc function using the uadratic formula. What are the x-intercepts, if any, of the graph
of the function? oy

f) < 2X & 7°L~x'~ff H/ LS —a ™
f(x) = 2x% + 3+ 6x A= Z/ L 6, (<3 Q( é C) o )

2 e / il
bt /7 oy P
Select the correct choice below and, if necessary, fi f' Il in the answer box to complete your choice- = J* 7:' { ;

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are

O A.

() B. The zeros and the x-intercepts are the same. They are

(O €. There is no real zero solution and no x-intercept.

BT

2 ! 2

Answer: B. The zeros and the x-intercepts are the same. They are

==(¢) s 7 (2)b)

7 BN

(< —6te—2v S - 23 71v3)

ID: 2.3.47

)("’_;é,_f__‘ij_/¢
S/
yo 6 t¢%:5

v /
i =6 e V%

‘:_.,_,-—-‘-*'—__

16 0f 35. \f/
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I//B Find lh% real zerc://q the function. What are t?@ercepts of)the graph of the function?
a(x)=x+64/x -27 o

Select the correct choice below and fill in the answer box to complete your choice.

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

OB are . o

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 9 |

ID: 2.3.75

Vr GUT —L7 = o Sk QKLF( e e
X—t1 ~ -G (/X

(X~ zdé- (cvﬁyé

///L/[K/w) o'z’

)(--—Z LN~ 21K~ T AT

vt — S 727 °
X : /rq(~f7é4

e« x 729 ,_)4,(»0

S | &MGM f}ﬁu M S ( ¢ Y

WEILY, ((/;d
5(/»()
= 36X

5af? O X‘

7;“\ ﬂw ¥ /



(g;)¢ V7 —¢2=z O
3(7'-6(‘3’/ —c7 2 O
et S —27 =0
f 3% =27 =2
fo7= O

SoAD

A 1S s

L;@an 5




17. Find mﬂ@h quadratic function using ethod you wish What are the x-intercepts, |f any, of the graph of
the fun r—‘
CA) - (’Q,( -f-;y(',.-( 1 X LR Vb vac
: 2
G(x)=20x" +x-12 (.,( - 2\_9 j lj _«:+( ¢ =T &c‘
. - - — 6

Select the correct choice below and fill in the answer box to complete your choice.

{3 A. The zeros and the x-intercepts are the same. They are \

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
B. e
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are

/ +) *Lx@( ) *Y/a:)/fz)

L ( 22)

ID: 2.3.81

FoJ74% (/"/ + FEO
$o
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r\|

\% /
Lor he quadratic function f(x) = x2 +4x-12, answer paris (a)
‘ough (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

O wuw
O down

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is l
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

19 of 35
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Z of [LV{ 5L’)arc5 \Q/{U/ g/ah//

Answers up 3/{ 0 ,,\/4 V’/) 4} /(f OCea s~
T4 plees Y Llleir Cadur iy
== 2 "\ d 9‘. A 3 q “ e (.) %] a v 2
S <

A. The x-intercept(s) isfare|  -6,2 |. i s bi E) 7 eg /
(Type an integer or a decimal. Use a comma to separate answers‘as needed.) /

A. The y-intercept is | =12 ].(Type an integer or a decimal.)

Ay e

l SEiss

[-2,0)
(-o0,-2]
ID: 2.4.37
I
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For the quadratic function f(x) = - 2x2 =2x =3, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)

The vertex of f is |
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

QO B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

QO B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis L
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval | L
(Type your answer in interval notation.)

The function is decreasing on the interval E
(Type your answer in interval notation.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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Seor LXWQ’\ __ (, c/cwyﬂi > — -
) St A - i S SCa q/(—

2% 2 &y I S-‘Av’f'urc‘/(9 hl)‘:/,f,/
. Nubly Pt

(1) O up.
O down. 5 /j,?e dol._\.- R

Answers (1) down 4 € J, Ven
1 S/ﬁ’y/’ “ a/'/('/ 2 / /w.c L)
(2N N/yhete /] docle Checse, dobg Dec

a,h[f);,,g)‘,(/ w /J/'\ A

ID: 2.4.43
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20. Determine, without g(aphlr;g’ whether the given quadratic function has maxrmuEJajue or a minimum value and then find
the value. / 579 ¢ > ';;\ (s Asehie GV gpra s davn S /~L
. ?2 > 8 ~= /?{.. G Z/
0= -2 +4x-5 ‘/7 i s ] AKX,

—lpzi, Gx T b [l
Does the quadratic function f have a mlnlmum ueora maxn‘(lum value? \/*’1 A L~ / A / = ?":‘ \
(O The function f has a minimum value. //{

'
(O The function f has a maximum value. V / ( /
(,_z ) z f-f-s'
What is this minimum or maximum value? ¢
(',f (/( X = ( / (:( /)

Answers The function f has a maximum value

S /sy - / /,-z( et (1) )
f

(Simplify your answer.)

VELV 2 () (1) < ¥(1/~¢

ID: 2.4.59 v /LN - - Ty

__:__'_,______._4'—-._,___/'_"\..“_ — —— < ]

21. Construct a polynomial function that might have the glven graph.
aps Ql'g

/;' (@f/ /Cérn c(wwf‘ 7 EZ%

\/\'A f
ShrenA oA /7/)47£ L3 7 Qm",.;:{;}( kc)}U) ;‘
Ca//_w' ,;; “2:] i

74y BAcic _From 7/l Cars
Choose the correct answer below. A j{ ( )(-—'TL ) (\(/,_\; ) £ 3

OA f=Xx-2x=5) (KT ) gt H—1 =< ol X-s=o
=142 =¥ an K5ty =07

O ¢€. f(x)=x(x+2)(x+5)

- \\ ) ,_-
O D. f(x)=x2(x +2)(x +5) @ J A @
- S

Answer: B. f(x) = x(x - 2)(x - 5)

b —
(A pre = “ | . )
ID: 3.1.73 /)(b:' i — " ‘@ X ()(""_Z) 6(/ 5‘7’
| £ :

okl = /L g
M —(F ) u ot jwhvj—\jf
7 — heiex /J (/c_, yor
* u/fl /(/ z_) (/r-——" S ) )
|- e
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QL sy § A sl J[uu-\CE’“’i X )
22. Use the rational zeros theorem to find all the real zeros of the polynomlal function. Use the zeros to factor f over the real
numbers. . :(_J ) { -2 —¢ X -2
\ i —( & r2
f(x) 5x° - 3x? - 25x - 21— : r’n
Find the real zeros of . Select the correct chi)lce belov{gnd if neces%ry, IHin tﬁe answer box to complete your answer.
M >t S Lhaduc Am),,?.‘\ Ly —2 (=
\“M_(.L A,._K — _— X ’ X
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a commﬁ separate answers as

needed.) ()< __( ))CA/ e -

= [
(O B. There are no real zeros.

Use the real zeros to factor f. {f S z &D (//Z )(__/ Z )
i 1 W =deu—D gl KPT]=T

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers

or fractions for any rational numbers in the expression.) X 7
=28 " C//

Answers A. x=| -3, -1,7 |
(Simplify your answer. Type an éxact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

K+ DEHIK-T) G S e ﬁ"j / / /
ID: 3.2.45 /""/p "3/ 7 ™\

/W 055 by
(csH

‘-f/’/’/‘
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—— e,

e X,
\%3‘ 2 7x° -4 L
For the fun:tn F(x)= » (@) graph the rational function using transformations, (b) use the final graph to find the

2 i
P -~ I rd —— 3 \
‘domain ngeﬁ'and (c) use'the final graph to Iista “vertical fhorizontal jor oblique asymptotes. |
L_/hu 4 - - L.: S ———— /2’/ }2‘/(11.’(’ .
(a) Choose the correct graph below. U 7 7 fv ECA Y
FHL AN f < e
O A. OB Oc.
y
2
< X
rl'rl’Tl"mT‘ﬂTrlTlT]—’
-20 i 20
-20-

(b) What is the domain of the given function?? Select fie e Friecassary Al the-amswer box to / L.
complete your choice. (( 7/ 4 == ,
(f\( & ’(,.; f/ — 7]& /'f-_[-m’
(ML — <2 £ N ) &
O A. The domain of the given function is {x|x is a realnumber, x # : - ) a——
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

..
!
A

O B. The domain of the given function is {x|x is a real number, x> :
(Type an integer or a simplified fraction.) [r_, " //' "

N
A}

O €. The domain of the given function is {xlx is a real number, x < P
(Type an integer or a simplified fraction.) - /

(O D. The domain of the given function is the set of all real numbers. ) -
/box

What is the range of the given function? Select the correct choice below and if necessary, fill i in the answe to

complete your choice.
C Porieontd asgmplts;

O A. The range of the given functlon is {yly?a real ﬁumber y>

(Type an integer or a simplified fraction.) - C' > *jg ¢ A ,}Z_;J— /)’;:\I o

O B. The range of the given function is {y|y is a real number, y # ) W 'y St &5
C #u /
(Type an integer or a simplified fraction. Use a comma to separate ans ers as ;eded ) y /’f: s o Y ‘J'rf
1 A5 -

O €. The range of the given function is {yly is a real number, y < } }{ 2 //“ /i }/4 g

(Type an integer or a simplified fraction.) k / e v/ﬁ;
{0 D. The range of the given function is the set of all real numbers. s 1z C)é/’ Foet— / i/y/

— 4 S v // S ( >

/'

(c) What is/are the vertical asymptote(s)’? Select the correct choice below and, n‘ neoes;m/ry{' fill in the answer box(as)

complete your choice. u.,
omain XF O T Rarsg y<7
O A. The left vertical asymptote is " Theright vertical-asymptote te is

(Type equations. Use integers or fractions for any numbers in the equations.)

O B. There is one vertical asymptote. it is
(Type an equation. Use integers or fractions for any numbers in the equation.)

(O C. There is no vertical asymptote.

What is/are the horizontal asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to
complete your choice.

O A. The top horizontal asymptote is . The bottom horizontal asymptote is

250f 35 10/31/2019, 8:12 AM
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(Type equations. Use integers or fractions for any numbers in the equations.)

What is/are the oblique asymptote(s)? Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

(O A. There is one oblique asymptote. It is ;
(Type an equation. Use integers or fractions for any numbers in the equation.)
O B. The oblique asymptote with the positive slope is and the oblique asymptote

with the negative slope is .
(Type equations. Use integers or fractions for any numbers in the equations.)

(O C. There is no oblique asymptote.

(T

-20 20

«2(]
Answers D.

A. The domain of the given function is {xlx is a real number, x # 0 b

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

C. The range of the given function is {y|y is a real number, y < 7 ir-
(Type an integer or a simplified fraction.)

B. There is one vertical asymptote. It is | x=0 .
(Type an equation. Use integers or fractions for any numbers in the equation.)

B. There is one horizontal asymptote. It is | y=7
(Type an equation. Use integers or fractions for any numbers in the equation.)

C. There is no oblique asymptote.

ID: 3.4.43
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y

S
g
x‘\

/?)//r— F/X"f’ Z/O ’a,

15x i o

-

1/ 24 Find th&wrttcaj@nzomal ﬁd oblique asymptotes if any, for the following rational functlon

Select the correct choice below and fill in any answer boxes within your choice

O A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

-

/-.—-
_‘__.r""/

(O B. There is no vertical asymptote. N —

Select the correct choice below and fill in any answer boxes within your choice.

O A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

(O B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice,

O A. The oblique asymptote(s) is/are y = _
(Use a comma to separate answers as needed.)

(O B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = : -20 f.(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = [ 15 '.(Use a comma to separate answers as needed.)

B. There is no oblique asymptote

ID: 3.4.45 /(W"‘f{f L e H//.j

= : ' \\ ;/H;- 2% f;4<5’ /"‘"”(/

,,..Z'_U/ Lﬂ%)nﬂ 7@«/ /é éfa \ G /0// 7 /ﬁ//(,m e d .I

Sami Fhen Fhe Ijrf ﬂ
(/é//d (1}'7/»//’4/[(’ }

K20 =O
A~ Zur/o i VA,

(2o e

Werkicd_as 37" >,

=i

Ashed prue top ad ppta S
ir & il

"

W
7ot~/
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ﬂé For f(x) = 3x + 1 and g(x) = 4x, find the following composite functions and state the domain of each.

28 of 35

(@) fog (b) gof (c) fof (d) gog
(@ fog)(x)= (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

QO A. The domain offogis {| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o N(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainofgofis {x| }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

QO A. The domain of fo fis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo fis all real numbers.
(d) (@ o g)(x) = | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

QO A. The domain ofgogis {x | }-
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 12x + 1
B. The domain of f o g is all real numbers.
12x+4
B. The domain of g o f is all real numbers.
Ox+4
B. The domain of f o f is all real numbers.
16x

B. The domain of g o g is all real numbers.

10/31/2019, 8:12 AM
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% /#The function f(x) = 4x + 2 is one-to-one. Ay
"

(a) Find the inverse of f and check the answer. 30‘
(b) Find the domain and the range of fand f ' 16
(c) Graph f, f~ ! , and y = x on the same coordinate axes. _125

&

-1
@f (= _
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) ]

_ _ _ AR R E TR e T &

(b) Find the domain of f. Select the correct choice below and, if 4
necessary, fill in the answer box to complete your choice. ]

%
O A. The domain is {x|x < b A5
© B. The domain is {x|x = 3. e
© €. The domain is {x|x# b 2
() D. The domain is the set of all real

numbers. /7 ;
=Gt

Find the range of f. Select the correct choice below and, if I /4 -
necessary, fill in the answer box to complete your choice. p - Q,& )(/,F /L, S ) &
O A. The range is {y|y2 } /—,;U,(/ (VNS )(/ L”?

O B. The range is {y|y# } [ /\/ (’f. 7 /f/ Z’ ;
O C. The range is {y|ys } % " - \/ 7 (/ =¥

(O D. The range is the set of all real numbers.

Find the domain of f 1. Select the correct choice below and, if >C l ’ L@
necessary, fill in the answer box to complete your choice. o
) A. The domain is {x|x¢ } /( _":,}: ]
O B. The domain is {x|x2 }. /7/,
The domain is {x|x s 3. (7
() D. The domain is the set of all real X//L <3
numbers. ——

Find the range of f -1 . Select the correct choice below and, if / _ = = _
necessary, fill in the answer box to complete your choice. : Y
O A. The range is {y[y;»e } A
O B. Therangeis {y|y2 } — = . /“”{, Ll

O C. Therangeis {ylys } - ‘ — x"rz’ -F,;lkjj‘ﬁwl
(0 D. The range is the set of all real numbers. ~ - = a1
’ ,/- / J .‘I
-1 - - & 2 s s 1 Pl i |
(c) Graph f,f , and y =x on the same coordinate axes. Usé (%) 7

the graphing tool to graph the functions.

e —

10/31/2019, 8:12 AM
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X=-2

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers. _

ey
D. The domain is the set of all real numbery

Lk
Jj/

D. The range is the set of all real numb

ID: 4.2.53

; 27. Solve the equation. : O ~X-¢2 5’) P "
e ) : - /HJ*"“ ‘
e ()= @) et (5 )
The solution set is e __ﬁ_\ |

(Type an integer or a S|mpI|f ed fractlon Use a comma to separate answers as needed.)

~4X 1/0F sX

Answer: 12 4 L =
7 A

ID: 4.3.73 / —f A an-—: s X

- - :
/ )
32003 Q‘;’ 1 T ’/*} /
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C -
,jA. Solve the equation. ééj ( /)(—/5 =g

log 5(4x+5)=5 DR

= (g — VAChrri Yy
Change the given logarithmic equation to exponential form. "2 V XM{’ >

| | 2l 7 2. L~ ¥ X~ N

(Type an equation. Do not simplify.) 3 L e (f )( o

The solution set is { } 2; i — &« T X ()(—/__/(‘4

(Simplify your answer. Use a comma to separate answers as needed.)

Answers 4y 4+ 5=25 2‘/ ? . V K

7 £7 - %X /M
4 ' .

ID 4.491- Setup & Solve

l/29 Solve the Ioganthmlcequatlon/)? L/O/()(} [/V’ C) / /Uj (/()/ —/'éc) /ﬁ,;_ :
log x+ log (x-9)=1 /U - 9((/\/' ((,) (/u’) —t (./u (r)

Determine the equation to be solved after removing the logarithm.

| /0 < )(7‘ 7 X\ Cond {-cm.«,f(
(Type an equation. Do not simplify.) O s Xz -q ,(,»-/‘) EM%}klﬂ

Select the correct choice below and, if necessary, fill in the answer box to complete your choioe _“{’/ |
05 CX +1)G=79" '\ L_x=¢ ¥
O A. The solution set is { -C,»é = © o /\/e— BE—.- )
r \

(Simplify your answer. Type an exact ans Use a comma to separate answers as

P
OB ::ede(") luti X’f/—/ E (/'I oA {’/U (A A ,@
| | CKY > IN(L~ /J @(ﬁ#{ -[u)&’-]///@)ﬁ/

Answers x(x - 9)=10 éuj(/) -'f[u)//"j) // /6)7@‘/)7//

A. The solution set is -{] Ip.

(Simplify your answer. Type an exact answer. Use a comma to separate. answers aﬁ needed.)™

O las (-0 #las(7) =/ y,

ID: 46.17-Setup & Solve /2; A 4}4 D / L
L Fl = -
e = —— - g T P I -
30. Find the amount that results from the given investment. / £ /‘(/‘// A éf‘ »f(f,?/ m “Lb " /ﬂ - 7 Cy O
$700 InJ/ested t12% munde@ after a ano(éjz ears—"i—"‘__ Z |
( e/ com q p y R74d e

—
A‘é years, the investment results in $[ A 7()LJ ( /’f /z')

(Round to the nearest cent as needed. ) (— [ / i
—f ol )
P

Answer: 886.74 A 700(/ - 0/3)4 7 I//l/
ID: 4.7.7 F—':&g ?6 237 / )7

i 7% o

-._'_______-___'____._.-d—"'
v 330f35 10/31/2019, 8:12 AM
e - _ ——————— —
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Per€c ' 3000 = Zuacu
31. How many years wﬂllt_ta foran |n|t|al investmen@ $20 OOO to grow to 30 000? ‘Assume a rate of interest of 10%

e e - — L1 5) « otoe e

x\

It will take about |' | years for the investment to grow+o $30 000 =
(Round to two decimal places as nengd) 19C C/’)? // () SR 2L /)
b 30600 = = &\ o NC b( /A g'/ = e ,C)uvm/
Answer: 4.05 9 WY 4 / g i = =,,/"uf ya ’é
/5/ C)’J( /" 0/0 /Oﬂ/ﬁ__ﬂ 7
2 Arpc) < BufeY (Heo W‘%'r/d// /=6 3 CGos =6
a4 .
32. UmnEbrted ;rfsirvth can be modeled by exponentlal functlons other Wm example, if an initial pqgulatlﬂn\
’__/"" t i (ﬁd!\(\'

P requires n units of time to triple, then the functlﬁ‘m(t) Po(3) /rnodels the size of the population at tlmet A insect )

population grows expgnentiaily Complete the parls athroughd’ bel / 50
ks %@N #(3)

(a) If the pLo‘pulatlon triples CSO/WS an 40  insects are present: In tially, write an sxpunentlal function uftheﬁnn- =

) P(42) = 4030 (5159 j‘

LEA = 22 3.6v007 38 _OK

q?(c,]) 2LY) o—
—

P{t)= P0(3) that models the population.

P(t)=| _ ===
%‘7{5/&( - i
(b) What will the population be nr@ff days?

The population in 47 days will be

(Round to the nearest integer as needed )
Ta Yiwe KibChen s
(c) When will the population rea¢h 560? {

542 o)t / 1 < ?0/3)

1o 13 B < sof) )"

(/‘f”&'zrfj 'E("/‘f s

(d) Express the model from part (a) mthefon:n': (t) Age®. /;: (“’) .‘ ﬁ/é/ < y&) C';H 3) /a)

PO=__ /ﬁ //?'): fj/ﬁ'(sj;ﬂﬂlé/m ‘0%65‘)%’5 ~
[ pa 5 a 8 |

P
The population will reag 560 in ]
(Round to one decimal place-as needed.)

(Use integers or decimals for any, numbers in the expression. Round to three de

Answers
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L/33 Solve the system of aquatlo JIf he ystem has no solution, say that it is inconsistent.
= = 22£ ~ LFX
2x —2y=-2 - c.f:, -1:;4, ra
10x+y =23 R = Y
TYELYTCE L I
Select the correct choice below and, if necessary, fill in any answer boxes within your chaoice. 5 !_) 5,7/.;»
~t
—_ =T
O A. The solution of the system is x = andy= . 2)(" 27 B
(Type an integers or simplified fractions.) 2 ( 7) — 7 =
(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as -~ T

{(x y)|x= ~ ,yanyreal number} == ZZ? -~z ,_4/

(Simplify your answer. Type an expression using y as the variable as needed.) ¢ /- 2= ( ’,

(O C. The system is inconsistent. 7 7 - -
] = f’?' "} - '—'C)
Answer: A. The solution of the system is x —| 2 and y = b ,rjzr : :-Z’_,
(Type an mtegers or si plrﬁétﬂracttons) - j.- = g
= - e - ’
)7 ( )\“’ oL
2,3 =
ID: 6.1.33 / =

—_— — — —

‘--‘_""—‘———\_\___,_,—
34. Solve the given system of equat:ons If the system has no solutlon say that it is inconsistent. )7 /{/b /
1Y Mctrr X, & )
xX—2y +3z= /) / < / [/CJ TL /

e ye 2s T .
-3x+2y-2z= -10 /A} Y / / z, .

=3 . —C { 25
Select the correct choice below and fill in any answer boxes within your choice. A
O A. The solution is x = Y= ,and z= . (Typ L l'* &
integers or simplified fractions.) s {)
i
() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as A { r/
{xy.2) | x= Y= . zany real number}. ! ) ( '
(Simplify your answers. Type expressions using z as the variable as needed.) \ (_ C Cv
(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as '\.\
{(x,y,z) | X= B , ¥ any real number, z any real number}. e

(Simplify your answer. Type an expression using y and z as the variables as needed.) TS—

(O D. The system is inconsistent.

Answer: A.
The solution is x = 2 Y= l,and z= | (Type integers or simplified
fractions.) , py /
D), /7 /44// /”W (/ ) //
ID: 6.1.45 /

//-//‘H/Z;ﬁ]>
o 7
O

350f35 e
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